							APPROX.		
Item					MANUFACTURER		ANNUAL	UNIT COST	TOTAL ESTIMATED
No.	ITEM DESCRIPTION	M/F	COLOR	MANUFACTURER	ITEM NUMBER	UNIT USED BY	USAGE		COST
1	CLASS "B" SHIRT SLEEVE SHIRT W/NAME TAPE SENTRY UPGRADED	М	DARK NAVY	HORACE SMALL	HS1611	FT SWORN & RESERVES	250	\$40.99	\$10,247.50
2	CLASS "B" SHIRT SLEEVE SHIRT W/NAME TAPE SENTRY UPGRADED	F	DARK NAVY	HORACE SMALL	HS1613	FT SWORN & RESERVES	50	\$40.99	\$2,049.50
3	CLASS "B" SHIRT SLEEVE SHIRT W/NAME	М	DARK NAVY	UNITED	11801	FT SWORN & RESERVES	250	\$25.75	\$6,437.50
4	CLASS "B" SHIRT SLEEVE SHIRT W/NAME	F	DARK NAVY	UNITED	W11801	FT SWORN & RESERVES	50	\$25.75	\$1,287.50
5	CLASS "B" SHIRT SLEEVE SHIRT W/NAME	М	MEDIUM BLUE	HORACE SMALL	HS1496	FT PSA/RECORDS	30	\$34.00	\$1,020.00
6	CLASS "B" SHIRT SLEEVE SHIRT W/NAME	F	MEDIUM BLUE	HORACE SMALL	HS1497	FT PSA/RECORDS	50	\$34.00	\$1,700.00
7	CLASS "B" SHIRT SLEEVE SHIRT W/NAME TAPE	M/F	LT. BLUE	TACT SQUAD	8012L	FT & PT PSA	80	\$21.75	\$1,740.00
8	CLASS "B" SHIRT SLEEVE SHIRT W/NAME TAPE	M/F	GREY	TACT SQUAD	8012NKL	EXPLORERS	30	\$21.75	\$652.50
9	CLASS "B" SHIRT SLEEVE SHIRT W/NAME TAPE	M/F	LT. BLUE	LIBERTY	767MNV	PT PSA	50	\$29.00	\$1,450.00
10	CLASS "B" SHIRT SLEEVE SHIRT W/NAME TAPE	M/F	GREY	LIBERTY	771MGY	EXPLORERS	30	\$26.00	\$780.00
11	CLASS "A" LONG SLEEVE SHIRT NO NAME TAPE SENTRY	М	DARK NAVY	HORACE SMALL	HS1138	SWORN PERSONNEL	100	\$36.00	\$3,600.00
12	CLASS "A" LONG SLEEVE SHIRT NO NAME TAPE SENTRY	F	DARK NAVY	HORACE SMALL	HS1188	SWORN PERSONNEL	25	\$36.00	\$900.00
13	CLASS "A" LONG SLEEVE SHIRT NO NAME TAPE POLYFLEX	М	DARK NAVY	UNITED	11901	SWORN PERSONNEL	100	\$25.75	\$2,575.00
14	CLASS "A" LONG SLEEVE SHIRT NO NAME TAPE POLYFLEX	F	DARK NAVY	UNITED	W11901	SWORN PERSONNEL	25	\$25.75	\$643.75
15	CLASS "A" LONG SLEEVE SHIRT NO NAME TAPE SENTRY	М	MEDIUM BLUE	HORACE SMALL	HS1494	FT PSA/CRIME SCENE/RECORDS	15	\$39.00	\$585.00
16	CLASS "A" LONG SLEEVE SHIRT NO NAME TAPE SENTRY	F	MEDIUM BLUE	HORACE SMALL	HS1495	FT PSA/CRIME SCENE/RECORDS	25	\$39.00	\$975.00
17	CLASS "A" LONG SLEEVE SHIRT NO NAME TAPE	M/F	MEDIUM BLUE	TACT SQUAD	8002L	FT PSA/CRIME SCENE/RECORDS	40	\$23.50	\$940.00

							APPROX.		
Item		4-			MANUFACTURER		ANNUAL	UNIT COST	TOTAL ESTIMATED
No.	ITEM DESCRIPTION	M/F	COLOR	MANUFACTURER	ITEM NUMBER	UNIT USED BY	USAGE		COST
18	CLASS "A" LONG SLEEVE SHIRT NO NAME TAPE	M/F	GREY	TACT SQUAD	8002NKL	EXPLORERS	20	\$23.50	\$470.00
19	CLASS "A" LONG SLEEVE SHIRT NO NAME TAPE	M/F	LT. BLUE	LIBERTY	761MLB	PT PSA	40	\$28.00	\$1,120.00
20	CLASS "A" LONG SLEEVE SHIRT NO NAME TAPE	M/F	GREY	LIBERTY	761MGY	EXPLORERS	20	\$26.00	\$520.00
21	OUTER VEST COVER - PRO-OPS EXTERNAL BALLISTIC VEST COVER	M/F	DARK NAVY	HORACE SMALL	HS3537	SWORN PERSONNEL	50	\$57.00	\$2,850.00
22	UNIFORM UNDER SHIRT - PRO-OPS UNIFORM BASE LAYER	M/F	DARK NAVY	HORACE SMALL	HS5537	SWORN PERSONNEL	100	\$43.00	\$4,300.00
23	UNIFORM UNDER SHIRT	M/F	DARK NAVY	UNITED	UM11221	SWORN PERSONNEL	100	\$42.00	\$4,200.00
24	SHORT SLEEVE POLO SHIRT W/EMBROIDERY (BIKE)	M/F	ROYAL	TRU-SPEC	4550	BIKE UNIT	50	\$90.00	\$4,500.00
25	UNITED 6 POCKET STRETCH BIKE SHORTS	M/F	BLUE	TACT SQUAD	UM381N-M	BIKE UNIT	50	\$44.00	\$2,200.00
26	SHORT SLEEVE POLO SHIRT W/ EMBROIDERY	М	VARIOUS	CONERSTONE	CS410	MULTI	60	\$34.00	\$2,040.00
27	SHORT SLEEVE POLO SHIRT W/ EMBROIDERY	F	VARIOUS	CONERSTONE	CS411	MULTI	30	\$34.00	\$1,020.00
28	LONG SLEEVE POLO SHIRT W/ EMBROIDERY	M/F	VARIOUS	CONERSTONE	CS410LS	MULTI	30	\$39.00	\$1,170.00
29	T-SHIRT DRY ZONE W/ SILK SCREEN S/S	N/A	VARIOUS	SPORT-TEK	T473	MULTI	50	\$18.00	\$900.00
30	T-SHIRT DRY ZONE W/ SILK SCREEN L/S	N/A	VARIOUS	SPORT-TEK	T473-LS	MULTI	50	\$24.00	\$1,200.00
31	T-SHIRT W/ EMBROIDERY L/S	N/A	VARIOUS	SPORT-TEK	SPT-K368	MULTI	50	\$24.00	\$1,200.00
32	UNIFORM PANTS - SENTRY PLUS HIDDEN CARGO POCKET	М	DARK NAVY	HORACE SMALL	HS2558	FT SWORN/FT PSA	250	\$44.00	\$11,000.00
33	UNIFORM PANTS - SENTRY PLUS HIDDEN CARGO POCKET	F	DARK NAVY	HORACE SMALL	HS2559	FT SWORN/FT PSA	50	\$44.00	\$2,200.00
34	UNIFORM PANTS - SENTRY PLUS TROUSER	М	DARK NAVY	HORACE SMALL	HS2601	ALL PERSONNEL	250	\$43.00	\$10,750.00

Item No.	ITEM DESCRIPTION	M/F	COLOR	MANUFACTURER	MANUFACTURER ITEM NUMBER	UNIT USED BY	APPROX. ANNUAL USAGE	UNIT COST	TOTAL ESTIMATED
35	UNIFORM PANTS - SENTRY PLUS TROUSER	F	DARK NAVY	HORACE SMALL	HS2601	ALL PERSONNEL	50	\$43.00	\$2,150.00
36	UNIFORM PANTS - POLYFLEX 4 POCKET TROUSER	М	DARK NAVY	UNITED	10221	ALL PERSONNEL	250	\$27.00	\$6,750.00
37	UNIFORM PANTS - POLYFLEX 4 POCKET TROUSER	F	DARK NAVY	UNITED	W10221	ALL PERSONNEL	50	\$27.00	\$1,350.00
38	UNIFORM PANTS	М	DARK NAVY	TACT SQUAD	7002	PT PERSONNEL	60	\$22.00	\$1,320.00
39	UNIFORM PANTS	F	DARK NAVY	TACT SQUAD	7002W	PT PERSONNEL	40	\$22.00	\$880.00
40	UNIFORM PANTS	М	NAVY	LIBERTY	600MNV	PT PERSONNEL	60	\$28.00	\$1,680.00
41	UNIFORM PANTS	F	NAVY	LIBERTY	600FNV	PT PERSONNEL	40	\$28.00	\$1,120.00
42	BDU PANTS	F	BLACK	TRUSPEC	1095	MULTI	20	\$45.00	\$900.00
43	BDU PANTS	F	KHAKI	TRUSPEC	1096	MULTI	20	\$45.00	\$900.00
44	BDU PANTS	М	BLACK	TRUSPEC	1070	MULTI	60	\$45.00	\$2,700.00
45	BDU PANTS	М	KHAKI	TRUSPEC	1073	MULTI	60	\$45.00	\$2,700.00
46	TRU SPEC BDU 24/7 ASCENT PANTS	F	KHAKI	TRU SPEC	1032	MULTI	20	\$55.80	\$1,116.00
47	TRU SPEC BDU 24/7 ASCENT PANTS	М	KHAKI	TRU SPEC	1036	MULTI	20	\$55.80	\$1,116.00
48	TRU SPEC BDU 24/7 ASCENT PANTS	F	BLACK	TRU SPEC	1031	MULTI	20	\$55.80	\$1,116.00
49	TRU SPEC BDU 24/7 ASCENT PANTS	М	BLACK	TRU SPEC	1035	MULTI	20	\$55.80	\$1,116.00
50	BDU PANTS (STRYKE)	М	OD GREEN	5.11	74369-190	K-9/SWAT	40	\$80.00	\$3,200.00
51	BDU PANTS (STRYKE)	F	OD GREEN	5.11	64386-190	K-9/SWAT	5	\$80.00	\$400.00

Item					MANUFACTURER		APPROX. ANNUAL	LINIT COST	TOTAL ESTIMATED
	ITEM DESCRIPTION	M/F	COLOR	MANUFACTURER	ITEM NUMBER	UNIT USED BY	USAGE	ONIT COST	COST
52	BDU PANTS (TACHLITE PRO)	М	OD GREEN	5.11	74273-190	FIELD FORCE	40	\$54.00	\$2,160.00
53	BDU PANTS (TACHLITE PRO)	F	OD GREEN	5.11	64360-190	FIELD FORCE	20	\$54.00	\$1,080.00
54	SHORT SLEEVE TEE SHIRT (PROPPER SYSTEM TEE)	M/F	OLIVE	PROPPER	F5373	K-9/SWAT	50	\$24.00	\$1,200.00
55	LONG SLEEVE TEE SHIRT (PROPPER SYSTEM TEE)	M/F	OLIVE	PROPPER	F5369	K-9/SWAT	50	\$14.00	\$700.00
56	RAPID ASSAULT LONG SLEEVE SHIRT	M/F	TDU GREEN	5.11	72194-190	K-9/SWAT (CALL OUT)	50	\$64.00	\$3,200.00
57	5.11 TACLITE PRO LONG SLEEVE SHIRT W/ ARM PATCHES, EMBROIDERED BADGE AND NAME	М	OD GRN	5.11	72175	K-9/FIELD FORCE (CLASS A)	10	\$64.00	\$640.00
58	5.11 TAC LITE PRO LONG SLEEVE SHIRT W/ ARM PATCHES, EMBROIDERED BADGE & NAME	F	OD GRN	5.11	62070	K-9 (CLASS A)	5	\$90.00	\$450.00
59	5.11 TACLITE SHORT SLEEVE SHIRT W/ ARM PATCHES, EMBROIDERED BADGE AND NAME	M/F	OD GRN	5.11	71175	K-9 (CLASS A)	10	\$59.00	\$590.00
60	PROPPER FASTBACK POLO W/EMBROIDERED BADGE AND NAME	M/F	OD GRN	5.11	F5345-72	K-9 (DEMO)	10	DISC	CONTINUED
61	CLIP ON TIE 16" 18" 20"	M/F	NAVY	BROOME	90001	ALL PERSONNEL W/ CLASS A	100	\$4.99	\$499.00
62	METAL NAME PLATE (FIRST INITIAL/LAST NAME)	M/F	GOLD/SILVER	REEVES CO.	MODEL 50	ALL PERSONNEL W/ CLASS A	50	\$16.00	\$800.00
63	METAL TIE CLIP W/ STATE SEAL	M/F	GOLD/SILVER	PREMIER EMBLEM	N/A	ALL PERSONNEL W/ CLASS A	100	\$9.00	\$900.00
64	MAJOR COLLAR BRASS - SMALL	M/F	GOLD/BLACK	PREMIER EMBLEM	N/A	MAJORS	20	\$8.00	\$160.00
65	SERGEANT COLLAR BRASS - SMALL	M/F	GOLD/BLACK	PREMIER EMBLEM	N/A	SERGEANTS	40	\$8.00	\$320.00
66	LIEUTENANT COLLAR BRASS - SMALL	M/F	GOLD/BLACK	PREMIER EMBLEM	N/A	LIEUTENANTS	20	\$8.00	\$160.00
67	CLASS A SHIRT "P" BUTTON	M/F	GOLD/SILVER	PREMIER EMBLEM	P5300	COMMAND	100	\$1.50	\$150.00
68	DRESS HAT	M/F	NAVY	BAYLY	09NM3A0	SWORN PERSONNEL/FT PSA	50	\$50.00	\$2,500.00

Item No.	ITEM DESCRIPTION	M/F	COLOR	MANUFACTURER	MANUFACTURER ITEM NUMBER	UNIT USED BY	APPROX. ANNUAL USAGE	UNIT COST	TOTAL ESTIMATED
69	HAT BADGE (SUNRISE POLICE) SINGLE POST SCREW	N/A	SILVER/GOLD	BLACKINGTON	B720R	SWORN PERSONNEL/FT PSA	25	\$101.00	\$2,525.00
70	MOTOR HELMET BADGE (OFFICER)	N/A	SILVER	SUPER SEER	S-8602-S SUR-FL	TRAFFIC	5	\$70.50	\$352.50
71	MOTOR HELMET BADGE (SERGEANT)	N/A	GOLD	SUPER SEER	S-8603-S WGN-FL	TRAFFIC	1	\$77.50	\$77.50
72	DRESS HAT "P" BUTTONS	M/F	GOLD/SILVER	BAYLY	N/A	SWORN PERSONNEL/FT PSA	100	\$1.00	\$100.00
73	DRESS HAT BAND/CORD	M/F	GOLD/SILVER	BAYLY	8523/8525	SWORN PERSONNEL/FT PSA	50	\$7.00	\$350.00
74	MOTORWHEEL PIN	M/F	GOLD/SILVER	PREMIER EMBLEM	N/A	TRAFFIC	12	\$7.00	\$84.00
75	WIND BREAKER JACKET W/ REFLECTIVE LETTERING	M/F	NAVY/BK	LIBERTY	560MNV	TIME SERVICE AIDE/	60	\$30.00	\$1,800.00
76	HEAVY WINTER JACKET W/REFLECTIVE LETTERING	M/F	NAVY	FLYING CROSS	54100A	SWORN PERSONNEL/FT PSA	30	\$99.00	\$2,970.00
77	HEAVY WINTER JACKET (NO EMBR)	M/F	NAVY	HORACE SMALL	2649M	PT PSA	30	\$84.00	\$2,520.00
78	TACTICAL BASEBALL TYPE HAT (W. Velcro Front /Crown/Back)	M/F	OLIVE	CONDOR	TCM-001	SWAT/K-9	40	\$12.00	\$480.00
79	BASEBALL TYPE HAT W/ EMBROIDERY	M/F	NAVY	COBRA	PWV	PERSONNEL/	150	\$12.00	\$1,800.00
80	ASCOT	M/F	LT. BLUE/ BLK	BROOME	N/A	HONOR GUARD/ TRAFFIC	20	\$7.00	\$140.00
81	SHOULDER CITATION	M/F	LT. BLUE, BLK	BROOME	600840	HONOR GUARD/TRAFFIC	20	\$24.00	\$480.00
82	DRESS GLOVES W/ WRIST SNAPS	M/F	BLUE/BLK	BROOME	9905	HONOR GUARD/TRAFFIC	20	\$0.40	\$8.00
83	BADGE MOURNING BAND (BK W/ THIN BLUE LINE)	M/F	BLUE/BLK	GENERIC	N/A	HONOR GUARD/TRAFFIC	50	\$1.25	\$62.50
84	HEAVY WINTER GLOVES	M/F	BLACK	HARLEY DAVIDSON	98201-07VM	TRAFFIC	10	\$40.00	\$400.00
85	TRAFFIC VEST W/ SILK SREEN	M/F	YELLOW	VEA	V549LG	ALL PERSONNEL	100	\$49.00	\$4,900.00

Item No.	ITEM DESCRIPTION	M/F	COLOR	MANUFACTURER	MANUFACTURER ITEM NUMBER	UNIT USED BY	APPROX. ANNUAL USAGE	UNIT COST	TOTAL ESTIMATED
86	RAIN JACKET W/ 3M REFLECTIVE LETTERING	M/F	YEL/BLK	LIBERTY	586MFLLG	ALL PERSONNEL	100	\$78.50	\$7,850.00
87	MOTOR REVERSIBLE RAIN JACKET GORE-TEX REVERSIBLE W/ 3M REFLECTIVE LETTERING	M/F	YEL/BLK	BLAUER	9691	TRAFFIC	5	\$409.99	\$2,049.95
88	MOTOR TACSHELL PANTS	M/F	BLACK	BLAUER	9825Z	TRAFFIC	5	\$269.00	\$1,345.00
89	KEVLAR PAT DOWN GLOVES	M/F	BLACK	DAMASCUS	DPG125	SWORN PERSONNEL	60	\$38.50	\$2,310.00
90	OFFICER BADGES	M/F	SILVER	BLACKINGTON	B736R	OFFICERS	30	\$91.00	\$2,730.00
91	DETECTIVE,SERGEANT, LIEUTENANT,MAJOR,DEPUTY CHIEF, CHIEF BADGES	M/F	GOLD	BLACKINGTON	B736R	CID/SUPERVISORS	20	\$91.00	\$1,820.00
92	SERVICE AIDES, CRIME SCENE, RECORDS BADGES	M/F	SILVER	BLACKINGTON	B1159	PSA/ CRIME SCENE/ RECORDS	25	\$61.00	\$1,525.00
93	RETIREMENT BADGE W/CLIP	M/F	SILVER/GOLD	BLACKINGTON	B736RKK	SWORN PERSONNEL	10	\$173.00	\$1,730.00
94	EXPLORER BADGE	M/F	SILVER/GOLD	BLACKINGTON	B957	EXPLORER	20	\$86.00	\$1,720.00
95	POLICE SHOULDER PATCH (SUNRISE)	M/F	N/A	OUR DESIGN	N/A	SWORN PERSONNEL	1200	\$1.75	\$2,100.00
96	SERVICE AIDE, CRIME SCENE ROCKER PATCH	M/F	N/A	OUR DESIGN	N/A	PSA/ CRIME SCENE/ RECORDS	200	\$2.18	\$436.00
97	EXPLORER PATCH	M/F	N/A	OUR DESIGN	N/A	EXPLORER	50	\$4.94	\$247.00
98	SERGEANT STRIPE PATCH	N/A	BL/BK	OUR DESIGN	N/A	SERGEANTS	50	\$3.98	\$199.00
99	FTO CORPERAL STRIPE PATCH	N/A	BL/BK	OUR DESIGN	N/A	FTO	50	\$3.98	\$199.00
100	SUPERVISOR ROCKER PATCH	N/A	N/A	OUR DESIGN	N/A	RECORDS	10	\$2.18	\$21.80
101	MOTOR WHEEL PATCH	N/A	N/A	OUR DESIGN	N/A	TRAFFIC	20	\$2.18	\$43.60
102	RECORDS PATCH	N/A	N/A	OUR DESIGN	N/A	RECORDS	20	\$3.98	\$79.60

Item No.	ITEM DESCRIPTION	M/F	COLOR	MANUFACTURER	MANUFACTURER ITEM NUMBER	UNIT USED BY	APPROX. ANNUAL USAGE	UNIT COST	TOTAL ESTIMATED	
103	OD GREEN POLICE PATCH	N/A	OD GREEN	OUR DESIGN	N/A	K-9/SWAT/FIELD FORCE	100	\$1.75	\$175.00	
104	VELCRO-BACK PATCH	M/F	N/A	OUR DESIGN	N/A	MULTI	50	\$7.99	\$399.50	
105	HI-GLOSS CORFRAM SHOES	M/F	BLACK	BATES LITES	E00942	HONOR GUARD	20	\$117.00	\$2,340.00	
106	HI-GLOSS CORFRAM SHOES	М	BLACK	THOROGOOD	831 6027	HONOR GUARD	20	\$112.00	\$2,240.00	
107	HI-GLOSS CORFRAM SHOES	F	BLACK	THOROGOOD	531 6303	HONOR GUARD	20	\$112.00	\$2,240.00	
108	SALOMON QUEST BOOT	М	IGUANA GREEN	SALOMON	4D2GTX	К-9	10	\$150.00	\$1,500.00	
109	SALOMON XA 3b MID Force	М	BLACK	SALOMON	F5369	SWAT	20	\$149.00	\$2,980.00	
110	MOTOR BREECHES	М	LAPD NAVY	UNITED	10322	TRAFFIC	20	\$147.00	\$2,940.00	
111	NAME TAPES (CREATE AND SEW ON)	N/A	N/A	OUR DESIGN	N/A	MULTI	100	\$6.00	\$600.00	
112	HEMMING OF PANTS	N/A	N/A	N/A	N/A	MULTI	100	\$7.00	\$700.00	
113	SEWING OF PATCHES/STRIPES - SHIRTS (CREATE AND SEW ON)	N/A	N/A	N/A	N/A	MULTI	100	\$6.00	\$600.00	
114	SEWING OF STRIPES - PANTS (CREATE AND SEW ON)	N/A	N/A	N/A	N/A	HONOR GUARD/EXPLORER	50	\$6.00	\$300.00	
TOTAL ESTIMATED COST FOR ALL ITEMS										

In the event that the City of Sunrise wishes to add additional items, what is the percentage discount offered, off of the manufacturer's List Price, at the time of purchase?